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Time: 3lrs M.M.-50

liiri.:.iiiempt an., thrre qurstisr.:s 1r'*rl: $cti+:r -1 :.nr! an-r tlrree questions irottr stctifiri Ii:'

:tll questions of Section C are compulsory 
,i

Section rl

el. Calculate the current through .t0f) resistor connected :rcross arm BD in Wheatstone

bridge shoxn in figure below using'l"hevenin's 'l'heorem-

3o/

lt'r

( jll lt_rJrlrrirr tht stclt r oltige l'esl)on\(' ol' [ll. se ries circtrit.

e1l. Pror e tiiat far :ria-rimura poryer transfer theorern, Load resistance(R;) is egual to

Thevenin Resistance(R,r,).

elV. Derive an expression fbr volt:rge, current and power relations in a balanced 3-Phase

rlelta connected Load. Also draw it's Phasor diagram

eV. A series RLC circuit with R:I00() ancl L:0.6II results in a leading Phase of 60

degree at a frequency of 40H;2. Find the resonance frequency of circuit.

(3.r5)

Sectiorr ll

(Jyl l)r:scriIe tIc itlcrrl and ,\ctual tnrnslirrnrer O\-1,O,\l) u ilh ltltltsor clirtgrrlrrt.

eyll l)iscuss in detail the x,orliing principle lntl cttttstnrction ol'l)('\lotor'

(.)\ gi L ryrlain tIc characlcristic ol'l)('shurit ruotor. ,\lso crplain it's lpplicrrtiori.

QIX llgy S[gl-1 circuil tcsl is perfol'nrcr! iln lltt tritlrslirl'tncr'] l)r'lrl il'r scl uJr ancl

rlist uss {ltt rcsults olltrtinctl l'rtttn tlte te st'



\
\

(J\ \\ hal is lhe elficiencv rtf a 1r'anslirrnrer'l Derire lhe conclition lir rnarirnuln
efl'iciencr.

Section C

QXI

a) State torque equation of DC Motor
b; State \orton's Theorem
c) !\'hat do 1'ou understand by Porver factor of a circuit?
d) What is the role of commutator in DC Motor?
e) Why tnansformer can't work on DC voltage?

f) The synchronous speed of induction Motor is 1500rpm and rotor speed is 1400rpm.
Find slip

g) Define Kirchoffs current lau
h) \\'hv are domestic appliances are connected in parallel?
i) Drarv the Phasor diagram of purell inductir-e circuit for current and voltage
j) \\'rite dow'n the characteristic of ideal transformer
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